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BOOKLET A : {28 x 2 marks = 56 marks} :
For each question from 1 1o 30, four optioris.are.given., One of thent s this correct

answer, Make your choics (1, 2
Answer Sheet provided.

» 301 4y and shade your answer on the Optical

1. Which of the following is niot-a source of heat?

{1}
(23
{3)
(4)

Sunm

lighted butb
candle flame
wooler jacket

2, Water at 80 °C.is milxed with water at 10 °C.

beaker

Water at 10 °C

——— Waterat 80°C

What Is a possible final temperature of water in the beaker?

(1)
2
@)
0

10°C
45 °C
80 °C
90 °C

A-1
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3. Lookatthe picture below.

(3)

A2



)
(2
3
4

.Which anithal has a pupa as a stage In its [ife cycle?

o g
chicken
b.uttérﬂy-'
cockroach

Matter i anything that has mass and vccupies space, -

‘Which one of the following is not matter?

(1)
(2}
@
{4

air
milk
light

stone

Which part, {1), (2), (3)or (4), makes food for the plant?

(2)-

s06il
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7.  Study the diagtam below:

Which human system is showh in the diagram abiove?

{1)  skeletal system
{2) muscular system:
{3)  circulatory system
(4y  respiratory system

8.  Thediagram shows a magnet brought near a plastic block.

" plastic block |} magnet

Vhat will happen to the plastic block?

(1) Wwil moveup,

(2)  Itwill not move.

(3}  twillmove to theleft
(4y 1t will move to the right.

g  Which statement Is true about most amphibians?

(1) They have tails.

{2)  Thegive birth to theiryoung.

{3)  They are covered with scales.

{4)  Theycan live on Jand and in water.

A4
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10. The diagram shows.a hampier,

— hamin_eﬁ'aeadf

Metal s used to make the hammierhead of the harfirier bécause metfal

{1} can reflactlight

(2) does ot break easily

(3)  does notabsorb water
4y can-bend without breaking

1. What will happan to the-metai rod when It s heated as sfiown in the diagram
below?

metal ro.d'/

A. It will become. longer.
B. It will become shorter,
C. it will becoime heavier.

(ty  Aonly

{2y  AandBonly
By BandConly
(4)  A,;Band Conly

A5




12.  Three identical flasks were filled with coloured water and fitted with a harow

glass fube: The flasks were then placed in basins that had been filted wiith
water of different temperatures at the same time. The liquid levels in the glass
tubes After 5 minutes were showh below.

glass tube mk

Based on the water levisl in the glass tube, which of the following shows the

correct arrangement of the temperature: of water in the basins of the 3 set-ups?

Highest temperature ———————————— Lowest temperature

)

NT|{OT

4)

-
) -

H 3
F ]
v .

The diagram below shows a bow! of hot noedles prepared by Mrs Lee.

Smetal fork

hot noodles

Which of the following correctiyshows the process of heat gain and heat lost
taking place Immediately affer she had poured the hot noodles into-the-bow!?

 metalfork |  hotnoodies | porcelainbowl |

@y |  heatgain | heatgain |  heatloss

@ |  hestles |  hestgain  heat gain

@ | beatgam |  heatless |  heatgain |

oy heat losé ‘heatloss |  heatgain

A6
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Dirtin wate prevents light from passing thia ugh. Four water samples, C, D, E

and F, were tested to.citck how dirty the water is. The amount of fight fhat

Passed through each sample of water was neasured using a light sensor.

torch s

\ water samiple
A graph based on the amount of light recorded by the light sensoris shown
below. '

light sensor

Amouint of 4
light (units)

—»

40 ——

30 7

20 -1

19 7T

]

G D E | F Water samiples

From the graph, which water sampls would most likely be tha dirfest?

M
(2)
3)
(4)

I i M w B

AT
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1 6 v

An object casts 2 different shadews, X and: Y, when light was shone an it from
2 different angles.

shadow X shadow Y

Which of the following objects could have cast shadows X and Y shown
above?

Q) e (2)

) J— @

Whilch ‘of the foliowing about the life.cycle of a grasshopper is not comrect?

{1 it hais a nymph stage.

(2)  ithas four stages in its life cycle.

(3)  Its'young looks the same as the adult.

(4)  its young moults several times as it grows.

A
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The diagrams below show the different stages i m the life cycle of a- p!anf .

Which of the following statements are correct?

N
2)
3
(4)

A. The plant is at its adult stage at H.

B. The plant can make its own food at J,

C. The plant shown above is a flowering plant,
B. The plant above has a four-stage Iife cycle.

Aand D only

B and C orily
B, Cand D only
AB.CandD

Study the diagram below.

80 em of dire. |

120 cin® of water —-

plunger

What will happen 1o the mass and volums of i mszde the container when the

plunger is pushed down?

Mass Volume
& remains the same | increas&e
(2) increases !ncreases
)  decrenses decreases
) remains the same | _ decreases

A8

BP-~477




19.

Some boxes, W, X, ¥ and Z were placed on a beam balancs to compare their
rhiass as shown in the diagrams below.

Based on the observations, which box has the greatest mass?

n W
@ X
@ v
@z

Study the diagram below. Container Q has 250 em? of water in it.

Coptainer Q Container R Containar 8

Which of the following will remain the same when all the water is poured from
eohtainer O to contdiner R and theh o container S, without any water spilling?

A. mass of water -
B.. shape of water
C. volumie of water

{1) AandBonly -

(2) BandConly

{3) AandConly

4) ABadG

A-10
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22,

«Josh and Tirm were asked te describe the function of a part.of a plant. The
following are their statements.

Josh: [t helps-the plant:to transport water.
Tim: It helps the plant to-obtain stifficient light.

Which.part is Josh and Tim referring to7

143 fiower

2)  leaf
3) stem.
€3 root

Matvel wanted to find out if the tecation of the: pots of plarfs, W, X and Y,

affects the growth of plants.

szoofot | t2em | tsom | faem

PotW | PotX | poty |

focation of pot - ';'- g_ar:d_en | Kitehen c:upb.oé'td ,

__ duration of expetiment | oneweek | onaweek | one week

‘Marvel's teacher said that ha did not conduct a fair experiment.

What change must he make to make it a fair experiment?
(1) Use pots of the same sizs,

(2}  Conduct the experiment for15 days.

(3)  Place all the pots in the same locatior.

{4}  Use a different number of plants for each pot,

A1

numberofplanisineachpot | 3 | 3 | 3
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24,

Peter saw some soil being washed down an empty sfope, with no grass onhis
way to school:during a heavy rain.

soil being washed down the slope

One month Iater, there were grass-growing on the slope. He observed that no

soil was washed down tha saine slope though it rained heavily this:time round.

slope with grass growing on it
Which part of the grass helps to prevent the soil from baing washed dewn?

{1}  leaves
{2}  roots:

(3) stemis.
(4) sgeds

A, B and C represent organs in a human digestive system. The graph bélow
shows the amount of undigested food measured leaving each organ.

amounfof
undigested
food (unit)

Which of the following comectly identifies ofgans A, B and C?

T R

@) | smallintestine |  stomach motth
2y | stomach mouth ~small intestine |
@ | mouth | stomath sinall intestine |

A2
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Five bar magnets with fheir ends marked from Qto Z eai be arranged as -

shown below, without repelling each offier.

(17

(3)

A;'

M

A9

@

(4)

BP-481




28. Sophie wants fo find out whether the number of batteries sffects the strength

‘of an electromagnet.

battery

coﬂs of w:re

nnnnnn

111111

A

The table below shows the varipus set-ups.

maghetic

Set-up N N;ng;;gf_: Nu?::les r Of Matenai ofrod
w 1 30 steel -
x o 2 2 iron )

Y 2 30 steel
—— . = —

Whiich twa set-ups should she use to conduct her experiment?

(1) WandY
(2) WandZ
(3) XandY
4y XandZ
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27.  ‘Siudy the classification table of fiving things: bélow,

Group K

bird's nest fam

‘Which of the follswing correctly describes groups J-and K%

_ Gouwpd | Group K
() | Flowering plants Non-flowering plants
2 |  Reproduge from seeds | Reproduce from spores 5

(3) Respond to change§ ;  Canﬁo‘t respond to changés
(4) | Abletomake their ownfood | Unable to make thelr own food

A5




28.  Study the flowchart below.

Materials |

“ Canit bend N
gasily?

P Canit N
. breakeasily? -

water
hose:

‘Based on the flowchatt, which material, P, Q, Ror S is most suitable to make

the water hose?
M P
@ o
{3) R
4 S

END OF BOOKLET A

GO'ON TO BOOKLETB

A6
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MAHA BODHI'SCHOOL
2024 END OF YEAR EXAMINATION
PRIMARY FOUR SCIENCE.
(BOOKLET B)

Name: , ( )

Class: Pritary 4,

Date : 24 Oct 2024

Total Duration for Bookiets Aand B: 1 h 45'min

INSTRUGTIONS TO CAN DIDATES:

1. Do not tur over this: page until you are told todo se.
2. Follow all instructions carefully.
3. Answer all questions.

4. Write all your answet in this booklet,

Booklet | Marks Obtained |  Max Marks
A I 56

B | ' 44
Total 1 ' 100

Parent’s signature:

This booklet consists of 45 printed pages:
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BOOKLET B : [44 marks]
For questions 29 to 40, writs your answers in this:-booklet.

The humber of marks available is shown i the brackets [ ] afthe end ¢f each
guestion or part-question.

29.  The diagram below shows a cooking pot,

cooking: pot

(@)  The haridle is made of plastic becausa itis a conductor
of heat. [11

(b} The potis made of metal bevause It is a ____conductorof
heat, 1]

30.  Classify the animals according to the number of stages in their life cycle. [3]

grasshopper mosquite:

butterfhy

Three stages - Four stages.

B-1
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31, Fillin me-derreat=parts: ofra'p{antsiﬂmetablé. ' - (21

" Function of plant.part__ Plantpart

[t holds the plant upright.

| it holds the plant firmly to. the ground.

32. ldentify the cuter covering of each animal group by choosing the words from
the box, 13

hair foather scales mioist isl.{i"n-

Animal Group Quter covering

(a)

()

(c)

Marks : 15}
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33, The dfaggrémé below show the life cycle of animals X and Y.

.a.bg‘ ’

-----

Life cycle of anifmial X Life cycle of anitnal Y

(2) State a similarity between the lifs cycle of animal X and animal Y. 1]

(b)  State a difference between the life cycle of animal X and animal Y. [1]

()  Eachitime, both the adults of animals X and Y lay many eggs. Explain
‘how this helps both animals to survive. 1

(dy  Animal Y is a pest that spreads diseases. At which stage of animal Y !
it be difficuit to kill? State: the reason why, (1l

Marks:: |
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' 34 {a) The diagram shows a plant,

(i)  Label plantpartK. M

(i)  State ope substance that the roots take infrom the soil. [1}

(b) Four simitar plants were placed inr identical containers with the same
amount of water as shown below.

layer of oil -

' ———— 300mlwater — Fon

- layer of oil

- :300ml water ——————

Marks:| 2. /2




{b) Five days later, the amount of water in each contairier was measured :
and recorded in the table below,

Setup | Amount of water (ml) -
4 150
2 200
3 300
4 250 '

()  Based onthe results above, state the relationship betwesn the
amount of water left in the container and the number of roots on

the plant. [1]
(i)  Explain why this relationship is observed in {b)(D. {1]
Marks : 12
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35. The

{a)

(b)

{e)

flowehart balow 'shQWS,-the properties of X, Yand Z.
! Matter

~Does it have’
afixed
~\\shape?

~Does it have
_ a fixed
TN Yolume?

Yes

-""IVDOéﬁS'_'Eit take
the shape of
. the contairier?,

Basad on the flowchart above, state all the properties of matter Z. 2]

Based on the flowchart above, what is the state of matter of ¥? My

Gene claimed that anexample of matter X is a'metal spoon as ithas.a

fixed volume. Explain why Gene is wrong. i

Marks

ja]
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36, Kelly has.a conta Ines vitiich was separated by & stopper. The left side was filled
with substance K. Wheh she pulled the stopper up, she observed that
substance K occupled somespace on the right side of the container as shown
belo,

stopper ptilled up

stopper

substange K substanc.é{

() Basedon her observation, what property of matter was.shown by
substance K? {1}

(6) Basedon the diagram, identify the state of matter of substance K.  T1]

Kelly theri filled two containers, Aand B, as shown in the diagram below.

container A container:B
) ()}  The water from container B was then poured info coritainer A,

Putaftick (v') in one. of the boxes below to indicate the correct
water level in container A after the. water was transferted. [1]

50em® | 75cm? 100:cm? '12'5-cm?

' ‘_Water level in
container A

() Explain your answer in c(i). 2]

Marks :
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57, The Tollowing shapes were cut out from a plece of cardboard as shown below,
The two shapss are of the $ame height and width.

L ]

3em

PR L1

Cardboard Cardboard

{a) Shape A was placed in position 1 and 'shape B is placed in position 2
respectively in front of the torch.

A B I

L L
screer

Put 4 fick (¥) in‘the box that shows the shadow that will be seen on the

screen-above. [

(b)  What can you conclude aboiit the property of fight from the experiment?
g

Marks 121

BE.
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37. {c) Danwalked Ina straight line from P o R as shown In below. The distance:
betwigen P and Q s the same as e distanice between Q and R,

street lamp TN
77

— .
Q R

The graph below shows how the length of Dar’ shadow on the ground
changed during his walk.

lengthof % N
shadow: \
(cm)

=

. hange as he walked from P
to Q and then from Q to R? [1]

() Howdid the length of Dan’s shadow ch

PtaQ: QtoR:___

(i}  Explain how the distance from the: lamp affected the length of the
shadow, 1]




38’.' Annie.set up an expeﬁmen{as_shown below. Bothithe metal containers G and
H and the amount of water were kept the same. :

boﬂ.d n wool
with trapped air-

metat contaliner G metal container H

Annie recorded the temperature of the water in containers G and H in the table
below.

Time (mins) | Container 6 (°C) | Container H (C) |
T e ——
10 86 | 69
20 | %2 60
2T e

{a) Statethereason why the temperature of water in both containers' G and
H decreased. 1]

(b)  State the difference in temperature change of water in containers G and
i 1

{¢)  How does fhe airin the cottor wool affect the decrease in temperature of
the water in contairier H? 21

Marks : | 14

B-10

BP-496



BP~497

38 (d) Using the same set-up as above, which container would you plage ice -
cubes in so that the itie cubes take a longer timie to mel?
Explain your answer. [

Marks : 1
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39, Calebmadea méghet-'bjy using the method shown below.

(a)

{b)

()

> _——
The arrows
represent the -
_ direction the
. magnet moves
ey n o 7 o g steel rod
State the pame of the method- above. (1]

He then placed the magnetised steel rod near a bar magnet and

obsarved what happened niext. Identify the pole [abelled part X of the
steel rod.

steelrod  direction of movement ‘direction of mo.';,ement
Xisthe o o n

Caleb hung three unkinown objects: D, E and F, nextto each ctheron a
plasticrod, Two of the upknown: objects are magnets. The diagram
bslow Shows their positions at rest.

plastic rod —___

D E- | F

()  Which two unknown objects, D, E or F are magnets. Explain your
answer. [1

Marks : | I3

B-12
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€ (i)  Calleb d_.eeided fo use a magnet on object D, using the method
shown below., :

o
A .

A}.

objectD _

He observed that object D did not becorme a magnet, State the
- reason why he.could not magnetise.D. 1

Marks :
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Jenny éar,ried out an experiment 1o test out the property of the rod made of

material x She secured cne end of the rad-on the tabletop using a clamp, She
taped a 150g weight at the end of the rod. She observed that the rod moved
downwards.and recorded the distance it bent.

rod made of material X

tabletop

1809

clamp

She repeated the experiment with 2 other rods made of materials Y and Z. She
recorded the results in the table below.

Matenal _ | D’ista_née the rod bent (cm) ]
x | 6 |

ta)  Whatisthe property of the rods that Jenny was testing? (1

(b)  Identify the variable in the experiment that was meastred. gl

Marks :- - 12]

B-14
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4Q.

©

f-.oék at'the scissorbeiow;

blades of
scissors

Which material, X, Y-or Z, is the most suitable to make the blades of the

scissors? Explain why.

(2

END OF PAPER

B-15

Marks :

/2
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BOOKLET B: 44 marks

_@n

Answers

29

bad/poor/poorer

" | Goodibatier

30

Three stages - frog and grasshopper’

Four stages.— butterfly and inosquito _

‘ Stem

Root{Roots

feather

| hair {fur)

scales

33

Both have an'egg stage. / Both hatch from EQgs.

- Both reproduce by laying eggs. / Both lay eggs.
| Both have an aduit stage. / Both’ adults have wings.

Animal X has.a 3-stage life cycle while animal Y has a 4-stage lifa

cycle.
Animal X's young looks Ilke the adult while animal Y's young does not

| look like the adult..

PE. 1
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' _Gn _ Answeré;
‘ {OR
{ Animal X'has a riymph stage while. Animal Y does nat’have: a nymph:
stage:
OR
| Animal Y has a pupafiarva stage while Anifal X has no pupallarva
stage.
¢ | TANYONE
If some-of the sggs are eaten, there will still be some eggs that can
hatch.
OR _
i some of the éggs do not hatch, there will still be some eggs that can
Hatch.
OR. _ o
it will incréase their charicés of survival.
OR
More-eggs tan grow Into adult. / More eggs can hateh.
Td T Atthe adult stage (%) because It has wings and can fly away(/)
34 {a |i ] leaffleaves
it | Water /Mineral (;s,a_ifs’): """
b |t ANY ONE
As the number of roots decreases, the amount of water left in the
‘container increases.
OR
' As therntitiber of roots increases, the amolint of water left in the
.container decreases.
T fRobts—.absor"ﬁ-Water}ﬁ When there are more roots, more water will be
labsorbed, 50 there is less water in the container.
35 |a ANY ONE
Z has:ne fixed volume and no fixed shape.
OR
Z is compressible: and takes the shape of the container.
|b Y is a solid.
Te | |ANYONE

X takes:the shape of the container while a metal spoon does net.
{OR
A metal spoon has a fixed shape while Xdoesviot. . .
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- Answers

Xisa fiquid while 2 metal spoon Js & solid..

“Must show comparison* __

36 |

| Watier oocpied space

u [ S0 | rser [iooes | e ]
Water level in ‘ . :
confainer A

As there ate gaps/spaces between the pebbles(Tmy,
the Water will occupy thie.space betwseii the gaps
50 the water level will be 756m8 (1 ).

37 |

Light travels i a straight line (%) and

| shadows are formed when light is blocked 14).

[

 P'to-Q: Decreased / became shorter

Q1o R: Increased / became longer

ANY ONE

{ The neater the petsoni is to the lamp, the length of shadow decreases
| (becomes smailer).
OR

The further the person is from the lamp, the length. of shadow increases

(becories bigger),

38

The Rot water Tost heat fo The strroundigs.

I ANY ONE _
- Temperature of water in & decreased faster/more than H.
| OR

- Temperature of waterin H decreased slowerflesser than G

B
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" Answers

At in the Gotton wool is a poor conductor of heat.
Thus; it slows down heat loss from the watei to the surroundings.
This resiilts inv a slower decrease Intemperature.

Cortainet H.

les cubes will take a longer time to gain heat from the sufroundings.

38

T Siroke method

X 1s North pole./ North

TE and Fare magnets. )
“They repel as only magnets can repel-each other.

 Object D is a non-magnetic material so it cannot be magnetised.

:'4{]'

Flexibifity

JANYONE

{ The distanice the rod bent

OR

‘How much the rod/ material befit

T Wiaterial Y as t bends the leask(1m)

so ftis the least floxible / nost figid / mast stiff material, (1m)




